|80.A number is formed by writing the_1st 35
natural numbers side by side. Find the
remainder whenitis divided by 4.

TS HEAT $,_35 FEIBI HI T-T9Te
IGECHCE AN I9 30 4 T HIT
T I, Y wwer 4T 87

a)l b) %3 d) none

123456 . 33345) T 35 Grtey
)
4)35 (8
32

£
I 1




IQI,A number is formed by writing

natural numbers side by side starting from
|2 45... .. aQ 94lo0 X 1. Find the remainder when this number is

divai#d o TFfaF FEABit w

1 YR R C 3HITcl-

T @ #Y TH 100 HH A wEd




Too prgt — wtal hep ue b write Foy
a3 .

123....9101] q9

; 6o . ..

oo T,
Tdizile  da-q-qq9 T00-99 -y |

Qdx2= 130 d/(?‘\'s CMX?::!ROZ
g




|92 . What is the sum of all the possible values o@

ZEBETK

22

I,qu lf,}zl 16 A%

> 1S48= 5

for which a seven-digit number, 23k567k, is
divisible by 3?
K & 3 gt garfaa #A&T &1 Qer fvden
23k567k, 3 ¥ fassa g2

15 b) 3 c) 109 d) 16

SSC CHSL, 10 Aug 2021 S1



/8% What is the value of k such that number 72k460k is divisible by 6?
kT 9§ AW A HY T TE&AT 72k460k , 6 @ RoT=T §f/Fmw?

/ﬁ )Q/ Xg ph /QXS
T2k 4o k.
P

I(éesz
T+ QK k"’7—- 6,8
3




|8Y4_If the number 87m6203m is divisible by 6 then find the sum of all possible

values of 'm’. N 2¥3 . '
Ife §EAT 87m6203m 6 ¥ AT &, af 'm' & welt wenfde #malr v
IRTH AT Y
30 b)20 16 Y15

™ evem

g/m}{/—éolgm 0,2,4,6,8

SSCCHSLT1,5 Aug2021S3



185. If the number 34k56k is divisible by 6, then what will be largest value of k?
gfe &A1 34k56k, 6 ¥ fAsmsa( g, aY k &1 aX d31 A Fhder
am?

6

/ b) 8 X d) 4 v
’Z ){ K\ﬁ}( l(‘/&/QM

v 0,2,y

7
_ SSC CHSL, 06 Aug 2021 S1



|6 .If the number 8764x5 is divisible by 9,

then find the legst possible value of x
g/%y‘l, where x isa two-digi number.

Iy 8764x5 T CH HEAT E ST 9 @

/ fRorea 8 a x &1 ~aasa gefaa

6 QY A AT HST, @1 x @ HH A
J /4 )ttt o — M%I

A 15 b) 06 c) 14 d) 18

CP0 2022 52,10 Nov 2022



|87. what is the product of the largest and the
smallest possible values of m for which a

number 5m83m4m1is divisible by 9?
ﬁ(m}@m/m x m % FE 93 I T R waifad A

8” HT IUART A FY, FGF AT FE;T

! 5m83m4am1,9 ¥ NI &2
é%ﬁ = _3’6"_“)_. a) 80 b) 10 c) 40 \,d)/ 16
?\' 04 ...9
’ 3x3




gAungger

U+A+ B,
5,14, Q3

A+R=5
~y

"3

(R 1f 8947A56B1 is divisible by 9, where B is

an odd number. Find the sum of all possible
valueof 4?2 > 1,3, 5,79

3V 8947A456B1, 9 ¥ fassw &, i@
B Us AWy TEam 8| 4 & usy wrfa
ATAT HT JT ATT HA?

a)26 __if27 ¢) 30 d) 36

10



19¢. If a nine-digit number 1263487xy is
divisible by both 8 and 5, then the
greatest possible values of x and y,
respectively, are: ) -
3% delt  "Edm
1263487xy, 8 3 5 &A1 &
Rusg & ar M x 3Ry &
2 ¥ a2 "afaq A AT W
6and0 6and5
c)2and 0 2and5

SSCCHSL, 12 Apr 2021 S3 11



6)(g- 4o (90. n = 475AB is a positive integer

'[} 10 whose tens and units digits are A and
\ B, respectively. If n is divisible by 5, 8
=0 and 9, thenwhat is (104 + B)?
n=475AB YdATH® IF g,
Tod % Ik e F IF
%7;&[\0 wAA: AT BRI I n, 583 9
2 ¥ forrsT @, & (104 + B) #1 AT
AT F
A1 20 b) 60
¢35 )15

SSCCHSL, 16 Apr 2021 51 12



(4].Find the greatest possible value of
(a + b) for which the 8 -digit number
143b203g is divisible by 15. >

(a+b) &1 HOFIA THT HA) AT
|#b;/o§/a w, Graw fv 8 -adw fo
143b203a, ¥ 15 &
| +,0+ b a) 16 b) 15 14
L—’g , S x
l \4/ |7 Q-O,S
/ )
A+ b
6 5 12

SSC CHSL, 9 June 202252 13



|92 . A four-digit pin, say abcd, of a lock
has different non-zero digits. The

NN digits satisfy b = 2a,c = 2b,d =
o b C d 2c¢. The pin is divisible by .
& drel T IR 3T arer RO §,
X0 / A AT abed, 3R WX IF
]2 Y4 8 o W& R ¥ 3F
b=2a, c=2b, d=2¢ EFT AT F
2L Y 8 16 | R o s B
X 2,35  X)23,7

\sV2,3,13 ) 2,3,11

14

CGLT1, 13 Dec 2022 S2



(9%, If the number 670458x95y52 is divisible
}éxq by 144, then find the value of \/2x + 3y for

the maximum value of x.

ot gt TR oy dem w3
3175:9 ﬁ‘aﬂﬁ!ﬁ?ﬁ at x & fFaH AT &
59_52 m,/2x+l§yﬂmmﬁl
Jl L\ avy/ " WfVze  oviE AV
r2 } 48 e
\3,—_\_"'—3/01 §+3\:%

15



194 If p & q are the digits of the number
8 5 3479p25g2 such that the number is exactly
X 1\IVISIb|e by 24, then which of the following

cannot be the value of
3R FE&AT 3479p25qizﬂ'i%raﬁ pd qal I&F

_ 2
’6-~ ;m#@mﬁmﬁﬁraaﬁﬁ%
"Z et & @ Stam(pgp ?

63 \)4\9 )(10 Hﬁ}m

’7;%/{7(?#17- Q=! 2P=03

mﬁl (:1:5 ‘)P=8/r32
|7L1’7/, _ _ 7
0/ ’2)(6//3 i‘q *)P:7,\‘£|

I | .
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